4
¥

Name:

25. Complete the proof below by supplying the reasons for each location.

BD

A

Given: AC bisects ZBAD.

AC bisects ZBCD.
sl=,2
Prove: L3 = /4
Statements Reasons
1. AC bisects #BAD. 1.
2. AC bisects ZBCD. 2. G) WU
3. sl=22 3. @l 70
4. /1=/3and L2 = £4
", prseEer
o DL of £ Pl
5. /3= /4
. Subst



‘ame:

26. Given: <ABE = <CBE
Prove: <ABD and <DBE are compl.

1.<ABE)= <CBE | gwen

2. <ABE + <CBE = 180 2. L. P %W
Suat-

3. <ABE + <ABE = 180

L8]

4, 2<ABE =180 4. C/’/T

Es e
2. i

5. DIVIS T
s 2L OAAL I
ks -
7. 90 = <ABD + <DBE . S UWbST
8. <ABD and <DBE are compl. 8. def. of compl.

10



Name:

27. Given: DE // BC and <1 =<2
Prove: <3 = <4

B“{E S

Statements Reasons

Lye//pe, L1200 G Tren

= =
2.<1=<3,and<4=<2 2 C'/QW/“ —

Y ezl subsT

28. Given: HI // LM, HG/LK
Prove <5 <8

ﬁ } ",

| Statements | ons
L 77/, HG /U Oy TN
TNz <7 2. _,\:_\5
(v =
3.<7=<8 3. vl
4. <5 = <8 4.
%"u&ijLf




\ame:

29. Given: g//h, <1 =<2
Prove: p//r

: g . h
.77 ’ ‘. 7 ’ - : .Q

Statements

Reasons

1. g/n

. &7 e

2.<1z=<3

2. M ol— =

3.<1=<2

3. (R I

4 <3=<2

4. é %%_h

pllr

> H"{+: E XTI = :/:';

o /] i

ID:



